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Class - IX
MATHEMATICS

Time : 3 to 3Y2 hours Maximum Marks :
YT : 39 31, T Afreram o :

Total No. of Pages :
% J3] hl A :

General Instructions :

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION -‘A’
Question Numbers 1 to 10 carry 1 mark each.
If x°1 +51 is divided by (x+1) the remainder is :
(A) 0 B) 1 (©) 49

3
B) 3

The complement of (90°—a) is :
(A) -a° (B) 90°+a (©) 90°—a

‘Lines are parallel if they do not intersect’ is stated in the form of :

(A) an axiom (B) a definition (C) a postulate

It is not possible to construct a triangle when its sides are :
(A) 83 cm, 34 cm, 6.1 cm (B) 54 cm, 23 cm, 3.1 cm
(€) 6cm,7cm, 10 cm (D) 3cm,5cm,5cm

J2 is a polynomial of degree :

(A) 2 (B) 0 © 1

In AABC, ,B=30°, ,C=80°and ,A=70° then,
(A) AB>BC < AC (B) AB<BC>AC
(C) AB>BC> AC (D) AB<BC<AC

Select the wrong statement :

(A) Only one line can pass through a single point

(B) Only one line can pass through two distinct points

(C) A terminated line can be produced indefinitely on both the sides

(D) If two circles are equal, then their radii are equal.
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In triangles ABC and DEF, AB=FD and /A= /D. The two triangles will be congruent by
SAS axiom if :

(A) BC=EF (B) AC=DE (C) AC=EF (D) BC=DE

The decimal expansion of /2 is:
(A) finite decimal

(B) 1.4121

(C) non - terminating recurring

(D) non - terminating non recurring

SECTION - ‘B’
Question Numbers 11 to 18 carry 2 marks each.

i 1 9 ,,1
Factorise : 27p3— 216 2P + 1P

3
Write e} in decimal form and say what kind of decimal expansion it has ?

In figure-1 ray OC stands on the line AB, ray OL and ray OM are angle bisectors of , AOC
and ,BOC respectively. Prove that ,LOM=90°.

Define :  (A) line segment

(B) radius of a circle

1
If x=3+2./2, check whether x + z is rational or irrational.

940117 - C1




16. Show that of all line segments drawn from a given point not on it, the perpendicular line
segment is the shortest.

17. In fig. 2, AB|DE, L ABC=75°, , CDE=145" find ,BCD

D

A

Fig. 2

OR
In fig. 3 PQ||SR, ,SQR=25°, ,QRT=65° find x and v :
g y

P Q

X

R
Fig. 3

Draw a quadrilateral whose vertices are (3, 2), (2, 3), (—4, 5) and (5,—3).

SECTION -‘C’

Question Numbers 19 to 28 carry 3 marks each.
Check whether (p+1) is a factor of (p!%—1) and (p'® —1).
OR
Find the remainder when 3x3—4x2+7x—5 is divided by (x—3) and (x+3)

Find the value of :

4 1

(216)3  (256) 4

3
1
Ifa=1- /2 find (a—gj
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In fig. 4, lines AB and CD are parallel and P is any point between the two lines. Prove that
~DPB=x+y.

A

&
<

Y
D
Fig. 4

A triangular park has sides 120 m, 80 m and 50 m. A gardener has to put a fence all around
it and also plant grass inside. How much area does he need to plant ? Find the cost of
fencing it with barbed wire at the rate of Rs. 20 per meter leaving a space 3 m wide for a gate
on one side.

In fig. 5, ABC is an isosceles triangle with AB=AC. D and E are points on BC such that
BE=CD. Show that AD=AE.

A

2 5
If\/§+\/§+ B-5 =a /3 +b./5, find a and b.

D is a point on side BC of AABC such that AD=AC. Show that AB > AD.
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27. Locate /{7 on the number line :

Locate /4.5 on the number line.

28. Observe fig. 6 and answer the following :

coordinates of B

point identified by the coordinates (—2, —3)
abscissa of point D

ordinate of point H

points with the same abscissa

points with the same ordinate

SECTION - ‘D’

Question Numbers 29 to 34 carry 4 marks each.
Verify :

(A) B+yP+28-3xyz= %(x+y+z) [ (x—y)?>+ @y —2)%+(z—x)?]

(B) Factorise : 64x3+125 13— 6423+ 240xyz.
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30. Infig. 7, the bisectors of , ABC and BCA of AABC intersect each other at point O. Prove

ZA
that ,BOC=90°+ —~.

Fig. 7

OR
AB and CD are respectively the smallest and the longest sides of a quadrilateral ABCD as
shown in figure - 8. Prove that /A > Cand /B> /D.

D

A/

Figure - 8

31. Infig. 9, if two isosceles triangles have a common base, prove that the line segment joining
their vertices bisects the common base at right angles.

A
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Factorise : 3u®—4u?2—12u+16
OR
Factorise : (x2—2x)2—11 (x2—2x)+24

In fig. 10, ,BCD= ,ADC and ,ACB= /BDA. Prove that AD=BC and /A= /B.

A B

Fig. 10

if p(y)=4+3y—y?>+5y> find p(2)
check whether (y+2) is a factor of p(y)

1
Find the remainder when p(y) is divided by (x_—j

2

-00o0-
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(A) 83H.dL, 349, 6.1 H.H (B) 5.4 ¥, 2349, 31 H.H
(C) e6d.H, 7€, 10 9.1 (D) 39, 59,59

J2 T g B o e R

(A) 2 (B) 0 © 1

T AABCH, /B =30°, /C =80° 3R /A =70°, 7 :
(A) AB>BC<AC (B) AB<BC>AC
(C) AB>BC>AC (D) AB<BC<AC

A HA I

(A) TH foag 9 Faa U W@ Gidl < gehel 7|

(B) Hhad ek W o fue famgetl & TR Tkt T

(C) T Fid T &l g1 IR AT=d ®9 F S ST ¢ |
(D) e g9 SRR &, @ 3 i 5o off sRyeR Bt B

)
)
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AABC 3R ADEF §, AB=FD @91 £ A= /D Tl Ay ®aimaw 2 SAS from g/ afs
(A) BC=EF (B) AC=DE (C) AC=EF (D) BC=DE

/2 I SIHEd ®9 H YH DA
(A) Hid TeHAE

(B) 1.4121

(C) 3THId Tt a0 g
(

D) AHid 3R et

)
)
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11. TUMEUS HifST : 27p3 — T Ep2+ 2P

3 . (aWa (a
3 ! YA & TG | I HI[T T FqEY foh Fg YT TR fFH TR F1 8 ?

3Tmpfa 1 #, foRTor OC T @1 AB R @2l Tl fRor OL den fhor OM sHe: £ AOC @9 £ BOC
¥ gafgues g1 fag #wifse fF 2 LoM =90°.

14. IRImIAFT: (A) Y@ Eve
(B) = i T3

1. W&x=3+2ﬁ,aﬁaﬁﬁqﬁx+% T AT T ¥ a srfaa ?
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17. @T&fd 2 #, AB||DE, £ ABC=75°, £ CDE=145°, ZBCD 1 |19 1 FHifeT |

D E
A >

A - 2
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a3 #, PQ|ISR, £SQR=25°, £ QRT =65°, x 3R y 1 TH I HIfeT |

P Q

X
259

65°

R
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M I HIFT
4 1
(216)3  (256)%

=2
3

HAYAT
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Mpfa 4 § AB 3R CD T9=R Y@M § a0 3 x@el & =9 P & fog g1 fag wifsw fw
ZDPB = x+y.

D
TR - 4
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i 5 H, ABC Ts HHfgang s € fsed AB=AC, BC R fig D 3R E 39 &R ¥ f BE=CD
TEsY fF AD=AE
A

B D E C

A - 5
aﬁﬁi£+ ffﬁ = a 3 +b./5, Aa AR b F AF T HifC |

AABC 1 YsTBC W T& fog D 36 &R § ff AD=AC <WIET f& AB > AD
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Y99 GG 29 ¥ 34 dh W&lsh WY 4 3Teh!T T &

1
(A) FATT HIT x3+y3+z3—3xyz=z(x+y+z) [ (x—y)%+ (y—2)%+ (z—x)?]
(B) TUMEUE HIWT : 64x3+125 13 — 6425+ 240xyz.
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30. 3Tfa 7 ®§, AABC &% £ ABC 3R ZBCA & G fog O W TH T H! Yidwsg d B |
fag wifse f& 4130c=90°+%.

C

HAFHA -7

T
amfa 8 H, wgYs ABCD &I Ta¥ B 1 AB a1 a9 s e CD &1 fog wifww f&
ZA> ZC 3R /B> £D

A/
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3MYR ] TR0 T FAGIT HLdt B
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UFETE HINT : 3u’ —4u2—12u+16
3AUAT

TOFETE HIT : (x2—2x)2—11 (x2—2x) +24

amfa 10§, ZBCD= ZADC 3R £ ACB= £BDA | fag ®ifst ff AD=BC 3R L A= /B

A B

ST - 10

34. (a) IfQ p(y)=4+3y—1y2+5/° p(2) @ HINTI
(b) ST IR & T p(y) FT OEETE (y+2) B?

() S p(y) A (x—%) Y 9 foran <3 @ 99 1 R 2
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